


Skizze Art.Nr. Benennung
201 390 1203 200
202 390 1203 201
203 390 1203 202
206 390 1205 017

2010 390 1203 203
2011 390 1203 204
2012 390 1203 205
2013 390 1203 206
2014 390 1205 025
2015 390 1203 208
2016 390 1203 209
2017 390 1203 210
2020 390 1205 031
2024 390 1203 212
2028 0279 8511 Linsenschraube M4x10
2037 390 1203 213
2041 390 1203 214
2048 390 1203 215
2050 390 1203 216
2053 390 1203 217
2058 0209 3347
2060 390 1203 218
2071 390 1205 086
2073 390 1106 064
2075 390 1204 032
2076 390 1205 090
2083 390 1203 253
2094 0620 6202 Rillenkugellager
2098 390 1203 222
2099 390 1203 223
20100 0620 6000 Rillenkugellager
20103 390 1203 224
20107 390 1203 225
20112 390 1205 128
20113 390 1205 129
20115 390 1203 228
20116 390 1203 229
20117 0500 1201
20118 390 1203 230
20119 390 1203 231
20120 390 1203 232
20121 390 1203 233
20122 390 1205 137
20123 0209 3345
20124 390 1203 235
20125 390 1203 236
20126 390 1203 237
20127 390 1203 238
20128 390 1203 239

20129+20130 8800 2739 Anschlagrolle mit Sicherungsring
20131 390 1203 241
20132 390 1203 242
20134 390 1203 243
20136 390 1203 244
20142 390 1203 245
20145 390 1203 240
20146 390 1203 246
20150 390 1203 248
20151 390 1207 028 Kohlebürstenhalter
20152 390 1203 249

202, 2064-2069 390 1204 020
2063, 20154-20159 390 1203 251

390 1203 252

HM 100 LU

Werkstückauflage
Drehgriff
Gummifuß
Gleitbelag für Drehteller (3-teilig)

Scheppach List

Feder
Spannstift
Stift
Handgriff
Verstellgriff
Halterung
Reibungsstück
Zeiger
Tischeinlage
Skala

Verstellgriff
Sicherungsgriff
Gelenk
Anschlag
Tragglied
Sechskantschraube M6x20
Kugellager
Sechskantschraube M8x16
äußerer Sägeblattflansch
Zentrierring
innerer Sägeblattflansch
Zahnrad

Anker
Kohlebürsten (Satz = 2 Stück)

Stator
Feder
Absaugstutzen
Spänesack
Beilagscheibe
Gelenk
Sechskantmutter selbstsichernd
Hülse
Schraube
Scheibe
Sägeblattschutz
Feder
Sechskantschraube M6x12
Halteplatte
Platte
Schraube
Schraube
Gelenk

Stützfuß
Feder
Handgriff
oberer Handgriff
unterer Handgriff
Schalterknopf
Schalter
Motorgehäuse

Kohlebürstenabdeckung
Werkstückspanner kpl.
Laser kpl.
Untergestell kpl.


